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Division (International) with a Helper Grid

Name:

Solve each problem.

1) 416 : 8 = 2 9/g1: 9 =
3 230: 5 = 4 51017 =
5 924 : 7 = 6) 889 : 6 =

Answers
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ﬂh Division (International) with aHelper Grid Name:. Answer Key

Solve each problem. Answers
1) 416 : 8 =052 2 981 : 9 =109 50
- 0 - 9 L
41 08
-4 0 -0 2. 109
16 81
3 46
-11/6 -18/1
0 0 " 7216
5 132
6. 148 r1
3 230: 5 =046 4 510: 7 =072r6
-0 -0
23 51
-12/0 -14/9
30 20
-30 -11.4
0 6
5 924 : 7 =132 6) 889 : 6 = 148r1
-7 -6
22 28
-12/1 -124
14 4|9
-11.4 -l4/8
0 1
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